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2. (a) Reduce the equation xp? ~2py+x+2y=0 to the

Clairaut's form by putting y—x=v and x2 =y
Hence obtain and interpret the primitive and
singular solution of the equation,

(b) Find the orthogonal trajectories of the curves

r"sinn @ =g"

UNIT-1!
3. (a) Solve:
Ay dy .
M«W+wﬂ|mu\ux+m5x
(b) Solve
Mrw..p.mklvauwkw e*¥ sin 2x
X X
4. (a) Solve :
2
RNMRIWJHM’N+N_\HRMONH
(b) Solve :
2 d%y dy 2
(Bx+2) Mqhﬁm@f,mvmllw%nx +x+1
x X

(2)

5. (a)

(b)

6. (a)

(b)

7. (a)

(®)

2

UNIT - Ini
Solve
GrRMVMW+HWWL\HRQIRva\M
Solve :
Ww.nﬁ.miﬁm wmv._\um.aw
Solve :
M‘MWIQJr%mJ,MW;am%J\nmN?%mJ
Solve :

A=x)y"+xy' —y = 2(x ~1)%e7¥

with given that x and ¢* are solutions
homogeneous equation.

UNIT - 1v
Solve :
d%y  dz
—2 -4y =2
a2 dx I
M@.immxwﬁuo
dx dx

Solve the simultaneous equations :

Qv dx _ &“_\ _ dz
cos (x +y) mEAR+SJN+M
2
xdx dy dz

(i) = =
Nwlwmur.g\m Y+z y-z

(3) P.T.O.




